A stock analyst wants to determine whether there is a difference in the mean rate of return for three types of stock: utility, retail, and banking stocks. The following output is obtained:
	Analysis of Variance

	Source
	DF
	SS
	MS
	F
	P

	Factor
	2
	86.49
	43.25
	13.09
	0.001

	Error
	13
	42.95
	3.3
	
	

	Total
	15
	129.44
	
	
	

	
	
	
	
	Individual 95% CIs For Mean

	
	
	
	
	Based on Pooled StDev

	Level
	N
	Mean
	StDev
	----------+----------+----------+------

	Utility
	5
	17.4
	1.916
	
	   (------*------)

	Retail
	5
	11.62
	0.356
	   (------*------)
	

	Banking
	6
	15.4
	2.356
	                     (------*------)

	
	
	
	
	----------+----------+----------+------

	Pooled
	StDev
	=
	1.818
	             12
	15           18


a. Using the .05 level of significance, is there a difference in the mean rate of return among the three types of stock?

b. Suppose the null hypothesis is rejected. Can the analyst conclude there is a difference between the mean rates of return for the utility and the retail stocks? Explain.

